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Question One (16 marks)

[2%]

Calculate the area of a circle with radius 8 cm.

Calculate the circumference of the above circle.

. Simplify 342 x 52

If tan A =1.234 find A to the nearest minute.

Find the valueof x if y = 3x - 4 and y ~ -22

Simplify 64" +a-3a’~4a

Simplify (3a%)

A rhombus has diagonals x units and y units. What is its area?

Find the x intercept of the line whose equation is 2x - y =10

. Complete the following; ‘If two lines are paralle! then their gradients are

k)

. Calculate the surface area of a cube with side 12 cm

. Write down the pattern rule for the table below.

x]o0[t]2]3
y1-2]2]6]10

. Factorise 154" -5a

. Find the co ordinates of the vertex of the parabola y = x* +1

. Find the simple interest rate which will allow $5 500 to eamn $990 interest in 4
years.

. Rationalise the denominator of 2

J3

Question Two (16 marks)

(2]

10x+8

. Simplify 7

Expand and simplify (y+7)(2y-1)

. Calcnlate the length of side AB in the triangle below correct to two decimal

places.
A

15m

Factorise; x*—2x+1

{

B C D

LI
Y

Match each graph above with an equation below
x=4

y=4
4
y=-
x
x+y=4
x=-y=4

3x 2x

. Solve; —~=-=12
2 5

. Fei borrowed $16 000 at 12%pa simple interest for 5 years so that she could

buy a second hand car. At the end of the 5 years both interest and loan had
been repaid. .
a) How much interest was charged?
b) How much was paid back altogether?
c) If the loan was repaid in equal monthly payments over
the five years, calculate the amount of each repayment

. The population of a small country town is decreasing by 15% of its population

every year. What would the population be in ten years time if it is now 27007




Question Four (16 marks)

Question Three (16 marks) 1. Find the simple interest carned on $2500 at 8%pa invested for ten months.

2 If y=—x"+c findcwhenx = 2,y =6

1. Simplify; 75
3.Solve the following pair of simultaneous equations;
8x-2y=6
dx+6y=22

2. Find the gradient of the line whose equation is 2x -3y +4 =0

3. Banks often advertise interest rates as daily rates. Find an equivalent interest
rate per annum for 0.06027% per day.

4. Given the equation of a circle is x* +y* =9 find;
a) The co ordinates of its centre 4, Factorise;, 3a° +Ta—6
b) The radius

5. Draw a neat sketch of each of the following showing relevant features;

5. Given the points P(-2, 8}, Q4 , 6) find ; a) y=2°
a) The gradient of PO b) xy==2
b) The co ordinates of the midpoint of PQ i )
c¢) The length of PQ c) y=-2x
6 Given the parabola y = 6x—x . . .
2) Find the x intercepts 6. Find the equation of the circle below.
b) What is the equation of the axis of symmetry? -
c) What are the co ordinates of the vertex? Y
d) Draw a neat sketch of the parabola 3.4

7. Jessicainvested $15 000 for 4 years at a rate of 8.5% pa compound
Interest (compounded yearly); X
a) To what amount did the investment grow in this time.
b) How much interest was earned altogether.




Question Five (16 marks)
1 On the same set of axes draw a neat sketch of y =x" andy =2x"

2. Solve 6-3x<-9

3. Mei invested some money for one year. One half was invested at 12% pa, one
third at 10% pa and the rest at 9% pa. What was the overall interest rate?

4. My grandmother invested $100 fifty years ago at a fixed rate compounded

annually. The investment has now grown to $2 330.67. What rate of interest
per annum is being paid?

S. After having depreciated at a rate of 9% pa , a motor vehicle is now worth
$15 000. What was its value six years ago?

6. Change the subject of the formulacto y in 3y =ay+4

7. Find the equations of the following;
a) b) c)
Y Y Y

{3.2) it

(4.4)

8. Factorise a'—a-—-a*+1
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